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| ﬁMr’r\xg Seqment Lengths i (itles
Find 3F % fle,

Find BF.
part # part = gt part
CEx DF = BF ~ EF
3 %14 =BFx(
42 = bBF
-

Fid #E

Owtside * \&Lx_bl@ = ouliside x while
fic = AG = AL = A

Ae. = § =2l
ARG
AG

1l

1]

= ,ﬂE{'.—Z,JTi'z
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ew] Chords Propertres
Let's consider the below diagram. Tind BC
B

3
§

C

outside x whole = gutzide + whele

AB BB =g % BC
§ » 8 = Bcx B
b = R
Nt = B
b - %

o the same ewa(w( verkex fire ’cMﬁen’c

1. lf 2 Seqwents
o chmle g nthey dre cmg\mev\

K Ap = BC

formation, lee-apcalculus.weebly.com.
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1. 1f 2 chords ave congruent, then threlr corresponding arcs are
Cong ruere.

2. Y 2 chovds are cangruent, then Jrhey are e@wcmt fom the center.
i AB md €6 £ FG

uz
n

f & diameter \s terpendiolar 19 nchid, then it bisects the chord
Aiso fesuihng in " con gruent ares.

BE = diameter
® E  BELCD and (GEDG.

3 aeo CB =DB.
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5. If & tangent intersects with 4 radius of 4 center; then the
intersechiin s a right angle.

C
B
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[Examples) Find the unkoown,

@ﬁ;\o\ the arc measure. L I .
X C Since KB (D, then B =(D.
AE = ,C_b @:3)(4'3 @:8
p RS fx-1 3X2 - @y = 3043 = CP,
L - —_3 :@
b 0 3x = §%-1D
“¥x ="x
-Sx= *(D
Xx=2.
@ Fid CD. 11
K ' AB = (D |HEE
yt =2y -3 AB-y++ AB=CD
P b 1 4 2 t4l m@f‘; CD
1
N ngﬁ/
v qyi= 13
gt=1
(3 fnd A8 111 —
[00° Since A8 = AC, then AB = AC
B ¢ 80+ PR+ AL =300
00° + AB +AR =360°
J 30° [00° 42AR = 360°
R 2%% = 260

AB =0>)
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3. Find lenghof Y. i TC=4x and TY=-3x +Sb.
TYE
—5/(*-56 =~ 4x

= +3x
56 = Fx
T= X

Ty

@ F(nd%\eg%\ of CK if (k=2x43 and C= 4.

Cz=Ck Ck= 2% +3
7&3: 4x 2015 +3
- " Ro2Zx =% b
3L

k 1S

o
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